TAROT X &

NNIN.OS T1TT1TMXX.COM



X 6B ASSEMBLY SECTION  %H =i Af TAROT ///

~
I S I 2 5 RD9x D4x4 P 7L B0 7 7Y 1k $ 5 FD6x 2. 5x3
Bk Ao A MR (M3x8mm) x4 ML B 25 MLk K75
Socket screws
o o
FEFANAIRL M2 5x16mm) x2 gé I
Socket screws m
} O
E KRN AL (M2x16mm) x3 O
L Socket screws ) o
TEER
Activity block

4 1F

screw

motor

1 H#EHRO6xD2. 5x3
: ) 5 i B kM7~ fa B M IR 4M2. 5x5
(L4 B ROOx D4 x4 Socket screws

W1 $T7D4x10mm

Copper set

B K A7 A IR £4M2. 5x30mm

Socket screws

Bl =
motor cover

Pipe sleeve

EBNN
Activity buckle

B+ 3k P 7~ AR 44M2x 1 4mm

Socket screws
BRFED16x445mm
Carbon fiber tub

HE LA FIRLM2. 5x16mm arbon fiber tube

Socket screws

BRFED25x349mm
Carbon fiber tube

42 FM2. 5
NUT

B 4E K M 73 AR LEM2. 5x24mm
Socket screws
BEE

Vibration reduction set

'[ B 3k P17~ £ 4R £4M2. 5 8mm
: Socket screws

D —(>— 4 o ;

EkANBEMIEL (M2. 5x6mm) x8 |
Socket screws .

| o

Bl Sk AN f R4 (M2, 5x10mm) x8
Socket screws

rubber sleeve

34,00
24,50 |
28,25
40,50

BT ED12x305mm

Carbon fiber tube
14,00 iR 1. 6mm
panels 1. 6mm

K= 2 B E B

rubber sleeve

Bl LA FfAMIRLN2. 5X6mm : , . _\ : '
* —8 !
Socket screws s ! .




X & ASSEMBLY SECTION %8 %t i Bf TAROT ///

4 N EEE (R
} Fixed seat(right)

B kA7 fAi2ez (M3x8mm) x2

Socket screws

B kAN ABIEZ (M3x12mm) x4

Socket screws

o

B kAN AIELZ (M2 5x10mm) x2

Socket screws

Bl Sk A 7~ F IZ £4M4 X 30
; &/ Socket screws
[B 3k A 7~ A ME £2M3 X 10

B kA7~ FRUBZEN3 X8 Socket screws
Socket screws

Bl Sk A 7 IR M3 X 12

: _—— Socket screws
\%W/‘—\ﬁ!ﬁﬁm. 5X10

Socket screws

/

EEE (k)
Fixed seat(left)

LR
Motor plate

B -2

Fold down the accessories-2

The gasket

B \H1£TD4x10mm
Fold down the accessories—1

PR ED25x280mm

Carbon fiber tube
The motor seat
@ Warning the state intellectual property has been awarded the tarot model., |td five patents. any units orindiviual
ﬁgf—‘ ‘5:: without the license holder manufacture coy use and sale the product will be patent lawsuit.

ERMRFRFERE FTAROTMREGRAFA MR ERERR. EMAMKDIARSFERNFA, FE. HiE. /. #HE
R &, BEEEEHERFR.

% #S: patent number:2014301541104 L #S: patent number:2014302624231

% #S: patent number:2014302624585 % #S: patent number:2014302624299

% #S: patent number:2014302583208

fg;bldden In any prohibited under the environment of, please do not try to operate aircraft.
AA I EEMZENFET, H2SRBETTE.

m Warning Please players need to master a certain flight vehicle technology within the scope of operation, to avoid unnecessary losses and full life.
g & FRRFEEE—EN RITRATERARNBRETE, BEERTLENRERAESR.

7 7 "
A A

4% o I IELR o

Red positive

= QDY 40A

Black cathode Cathode ) 4% 2% S iR -
Net work cables cathode

Positive




X B ASSEMBLY SECTION 4B 35 Bf TAROT ///

Ve

-©-

E KA 7~ iRz (M3X8) X6

Socket screws

I

m

i)

Round six angle screws stage

| o

E LR ANAIRLL (M2, 5x5mm) x2

Socket screws
-

BEkANRBEMIZL (M3X8) X18

~ GPSEE

Bl kA7~ AR 4M3 X8
Socket screws

J

B 3k A 75 f B B IR £4M3 X 8mm

Socket screws

HERE N
Spin buttons

Bl kA7~ F U2 £M2. 5x5mm

Socket screws

e
Rotary knob

BRLFHR1. 6mm

Carbon fiber 1. 6mm

EREBE
Nylon gaskets

8 M

Aluminium column

paviiki-L:
Hexagonal aluminum
column

o @
BlkAAAEMIEEL (M3x8mm) x4

Socket screws

F[E KA AIELL (M3x8mm) x2

Socket button head screw

Bl kAR (M3X12) X4

Socket screws

B KR £M2x 10mm
Socket screws

f&ELE

Junction box cover

45
Junction box

B B 42 £2M2x 8mm

Socket screws

B 3k A 75 f B PSR £4M3 X 8mm
Socket screws

R EFHR1. 6mm

Carbon fiber plate1.6mm

& HR1. 6mm
circui board

B sk A 75 F MR M3 X 1 2mm
Socket screws




KXB ASSEMBLY SECTION %A 3% 15 R

TAROT

BERETEER

R G ERZS,
%2 35 74 A

g MI%ME_MI@

XT150#F K
2@ (Hth)

;j) A
M1 ™.
\
= \
\
\
€
S
o
(o]
D
/
;
r
0/‘
ey K
. |
>




@ Warning
&

The state intellectual property has been awarded the TAROT model.,ltd five patents. Any units orindividual without
the license holder manufacture . copy . use and sale the product will be patent lawsuit.
ERMAENERFTAROTMEFRAA LR AMEN N EMEMIMAREHFHEERLOFA, HE. FE. £
M. HEkmMESEIRERERGRL.

L F|Spatent number : 2014301541104 £ F)Spatent number : 2014302624231

£ F|Spatent number : 2014302624585 £ | Spatent number : 2014302624299

£ F|Spatent number : 2014302583208

MAad= IN CHINA
2014 TAROT. ALL Rights Reserved.
Frame Weight: 19309



